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QUESTION 1

A financial analyst is creating a daily billing report for a company. One night, the company\\'s data warehouse did not
update the data, which caused the data to be reported incorrectly the next day. Which of the following documentation
elements should the analyst add to catch this error?

A. Version number

B. Data refresh

C. Frequently asked questions tab
D. Summary

Correct Answer: B

A data refresh is a documentation element that indicates when the data was last updated or refreshed from the source.
A data refresh can help the analyst to catch the error of the data warehouse not updating the data, as it will show a
discrepancy between the expected and actual date of the data update. A data refresh can also help the users of the
report to verify the timeliness and accuracy of the data, and to avoid making decisions based on outdated or incorrect
data

QUESTION 2

Which of the following statistical methods requires two or more categorical variables?
A. Simple linear regression

B. Chi-squared test

C. Z-test

D. Two-sample t-test

Correct Answer: B

This is because a chi-squared test is a type of statistical method that tests the association or independence between
two or more categorical variables, such as gender, race, or occupation. A chi-squared test can be used to compare the
observed frequencies of the categories with the expected frequencies under the null hypothesis of no association or
independence. For example, a chi-squared test can be used to determine if there is a relationship between smoking and
lung cancer. The other statistical methods do not require two or more categorical variables. Here is why:

Simple linear regression is a type of statistical method that models the relationship between a continuous dependent
variable and a continuous or categorical independent variable, such as height, weight, or education level. A simple
linear regression can be used to estimate the slope and intercept of the best-fitting line that describes how the
dependent variable changes with the independent variable. For example, a simple linear regression can be used to
predict the weight of a person based on their height. Z-test is a type of statistical method that tests the significance of
the difference between a sample mean and a population mean, or between two sample means, when the population
standard deviation or the sample sizes are large enough. A z-test can be used to compare the average scores of two
groups of students on a standardized test. Two-sample t-test is a type of statistical method that tests the significance of
the difference between two sample means when the population standard deviation is unknown or the sample sizes are
small. A two-sample t-test can be used to compare the average salaries of two groups of employees in different
departments.

DAO0-001 VCE Dumps | DAO-001 Practice Test | DA0-001 Braindumps 2/4


https://www.leads4pass.com/da0-001.html
https://www.leads4pass.com/da0-001.html
https://www.leads4pass.com/da0-001.html

https://lwww.leads4pass.com/da0-001.html
2024 Latest leads4pass DA0-001 PDF and VCE dumps Download

QUESTION 3

Which of the following statements would be used to append two tables that have the same number of columns?
A. UNION ALL

B. MERGE

C. GROUP BY

D. JOIN

Correct Answer: A

The correct answer is A. UNION ALL.

UNION ALL is a SQL statement that appends two tables that have the same number of columns and compatible data
types. UNION ALL preserves all the rows from both tables, including any duplicates12

B. MERGE is not correct, because MERGE is a SQL statement that combines the data of two tables based on a
common column. MERGE can perform insert, update, or delete operations on the target table depending on the
matching or non-matching rows from the source table34

C. GROUP BY is not correct, because GROUP BY is a SQL clause that groups the rows of a table based on one or
more columns. GROUP BY is often used with aggregate functions, such as SUM, AVG, COUNT, etc., to calculate
summary statistics for each group56 D. JOIN is not correct, because JOIN is a SQL clause that combines the data of

two tables based on a common column or condition. JOIN can produce different results depending on the type of join,
such as INNER JOIN, LEFT JOIN, RIGHT JOIN, etc.

QUESTION 4

Which of the following is an example of a discrete data type?
A. 8in (20cm)

B. 5 kids

C. 2.5mi (4km)

D. 10.7Ibs (4.9kg)

Correct Answer: B

Explanation: A discrete data type is a data type that can only take on a finite number of values, such as integers or
categories. An example of a discrete data type is the number of kids, as it can only be a whole number. The other
options are examples of continuous data types, as they can take on any value within a range. The length in inches or
centimeters, the distance in miles or kilometers, and the weight in pounds or kilograms are all continuous data types.
Reference: CompTIA Data+ (DA0-001) Practice Certification Exams | Udemy
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QUESTION 5

A sales manager wants quarterly sales reports broken down by unit and week. Which of the following data output lists
includes the most necessary information?

A. Order number. salesperson. date shipped, recipient address, and price

B. Item name, salesperson. recipient address, shipping cost. and date shipped

C. Item number, item name, salesperson. date sold. and price

D. Item name. salesperson. price. shipping cost. and date shipped

Correct Answer: C

To create a quarterly sales report broken down by unit and week, the most necessary information is the item number,
item name, salesperson, date sold, and price. These data elements can help the sales manager to track the sales
volume, revenue, and performance of each unit and each week within a quarter. The item number and item name can
identify the products or services sold by each unit. The salesperson can indicate the individual or team responsible for

each sale. The date sold can show when each sale occurred and how it relates to the weekly and quarterly goals. The
price can show how much revenue each sale generated and how it contributes to the unit and quarterly totals.
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